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General Instructions

e Write using black or blue pen.

e Submit answers in 3 separate
sections. Clearly marked A, B & C

e Board approved calculators may
be used.

e  All necessary working should be .
shown in every question if full marks
are to be awarded. :

e Marks may NOT be awarded for
messy or badly arranged work.

o Attempt all questions.
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Write down the value of x in the following:

a.)

b.)

849

. Section A (33 marks) — Start a new booklet Marks
1. Convert 40% to a fraction in its simplest form. 1
2. Find sin16° correct to 3 decimal places. 1
3 Simplify 24* +3a”. 1

4. Use a calculator to evaluate: 1
131—413—76— correct to 1 decimal place.
> Express % as arecurring decimal. !
6. Simplify v12 ++/27. 2
7. Solve Sy +1=2y+7. 2
8. Write down exact values for: 2
a.) sin 60°
b.) cos225°
9.  If4J5=+x ,find x. 1
10. | 3
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a.) 3a-2(a-1)+7=0

3x+4
x

b.) 2

c)  x*-2x-8=0

Section B (36 marks) — Start a new booklet Marks
18.  Sketch x - y+ 4 =0 on a number plane. 2
19.  If f(x)=2x* +3x+1, find: 2
a) S0
b)  S(3)
20.  What is the slope of the line 2x+y-11=0? 1
21.  Find the angle sum of a regular decagon. 2
22.  State the domain of the following functions:- 2
a)  f)=——
x-1
b)  f(x)=vx-2
23.  Expand and simplify: 4
a.) (4x+1)(x-2)
b)  (5-+2)
24, State whether the following functions are EVEN, ODD or NEITHER. 3
a)  f(x)=x*+4
b)  f(x)=x*-3
) f®)=—5
1+x
25.  Write down the complement of 26°37'. 1
26.  Solve: | 6
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27.  Sketch on separate number planes:

a.) y:x2
b) y=3*
c.) xy ;6
d)  y=x-2|

e.) x°+ y2 <9
28.  Find the equation of the line passing through the points (3,6) and (-1,4) .

? Express 3 with a rational denominator, in simplest form.
J7+2

30.  Find the area of A4BC .

4cm
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Section C (31 marks) — Start a new booklet Marks
31.  Factorise: ' 5
a)  y>-25
b) ¥ -x-6
c.) 3¢% —20c—7
d) ab—a-bc+c
e.) 8+4°
32.  Solve the following pairs of simultaneous equations: 4
2) x—y=17 b, 2x+3y+18=0
x+y=5 x+4y+19=0
33.  Find q if x> +6x+a=(x+3). 1
34 Solve 2x? —6x-9=0 , using the quadratic formula, (leave answers in 2
simplest surd form).
35.  Find the locus of points which are equidistant from the points 3
R(_—4, 0) and S(-2,5).
36. Find the equation of the line passing through the intersection of 3
3x+y—-6=0 and 2x -3y +4 =0, which contains the point (5,—4).
37. Solve sinx = —% for 0° < x <360°, 2
38.  Calculate the length of each side of a rhombus whose diagonals are 12cm 2 .
and16cm.
39.  Find the value of x. 3
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40.  In AABC, ZB=90°and £4=31°. Pis apoint on 4B such that AP =20m,

and ZCPB =68°.
(&
. 31° 68°
A4 £20m>p B
a.) Show that PC = M
sin37°

b.) Hence find PB correct to the nearest centimetre.

End of test.
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D 0.-Q7b
A 4

D 0-4

6‘) 2{z + 33 = 50z

D Bu=h y=Q

8)| o) Sin (o53= B3/

B)_£os 225° = —l)E
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Secrion C
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